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1R
3

SMAl D 8 DAFE ¢ 4/3n(6.4 X 108 — 4/3m((6.4-2.9) X 108)3
SMEI D JB D& 1 4/3r((6.4 % 1083 — 4/3m(3.5 X 108)3
SMAIDJE DREE  4/3n((6.4 X 10°)° — (3.5 X 10°)?)

REIDBOEEEZXET 5,

(FtEBE)

LEROEX | 5.5%X4/3n(6.4 X 108)3
NEIDBOES : x X 4/3n((6.4-2.9) X 108)
NEIOBDOEX © x x4/3n(3.5X108)3
SMEIDBDOE X : 3.0% 4/3r((6.4 X 108)2— (3.5 X 108)3)

RNEIOBDEX =2ROBE -NMIOBOES

X X 4/311(3.5 X 108)3=5.5 X 4/31(6.4 X 108)3— 3.0 X 4/3n((6.4 X 108)3— (3.5 X 10%)3)
X X (3.5 X 108)3=5.5 X (6.4 X 108) —3,0 X ((6.4 X 108)3— (3.5 X 108)3)

X X (3.5 X 108)3=(5.5-3.0) X (6.4 X 108)3+3.0 X (3.5 X 10%)3

X X (3.5 X 108)3=(2.5 X (6.4 X 108)3+ 3.0 X (3.5 X 108)%)

X =(2.5X (6.4 X 1082 +3.0 X (3.5 X 108)8)- /(3.5 X 108)3

(2.5% (6.4 X 108)® /(3.5 X 108)®) + 3.0

(2.5 % (6.4)® X 10%,7(3.5)3 X 10%%) + 3.0

{

{

Honounon

2.5%(6.4)3,/(3.53) +3.0
2.5%(6.4,73.53)+3.0

xX X X X

X =(2.5 X% (1.829%) +3.0
X =(2.5%X1.8%) +3.0=14.58+3.0=17.58 -18

~

(ZFRE) 18 g/cm3
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